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Geometry Notes: 2-3/2-4/2-5

o 2-3 Conditional statement:

Example:
If the Tigers win the next game, then they will be division champions.
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The hL\,\) Oty LS follows the “if”. The L()«\(’_ loen follows the “then”.
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Using symbols to represent a conditional: p = g, meaning if_p, then Lt Or meaning p \{)’ g.

Example: Identify the hypothesis and conclusion of the following conditional statement.
If a polygon has six sides, then jt is a hexagon.
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Example: Write the following statements in if-then form. Then identify the hypothesis
and conclusion. L\%‘mcg/(/u—%\“ﬁ Conc (2
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e truth value: The hypothesis, conclusion, or the entire stmt may be T{uq or L\@lbﬁl

e Converse of a conditional statement: ¢ th;vu&o‘ L\Lj \ﬂn}'/{,/f/b'\ ¢ fonclosion

Using symbols, we represent the converse by CZ > /D

e Example: Write the converse of the following true statements. Determine the
truth value of the converse. )/_2 ,’lﬂ QG
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1. If 2 angles form a linear pair, then they are supplementary.
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2. If aline bisects a segment, then it intersects the segment at its midpoint.
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3. Vertical angles are congruent. o
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2-4 Deductive Reasoning: A Sy sber 85 (Cosoni NF thedt
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2-5 Postulates and Paragraph Proofs /fb(
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P2.1 Through any Q_ points, there is exactly _| | line. a
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P2.2 Through any 3 ,(D(MM\:S points, there is exactly ¢ ¢ __ plane.

P2.3 A line contains at least 2 5) ontS

P 2.4 A plane contains at least 3 _non (o (¢re o PO VAES . /
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P 2.5 If 2 points lie in a plane, the entire Line containing them lies in the plane.
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P 2.6 If 2 lines intersect, then their intersection is exactly 1 [Porn il . ’(

P 2.7 If 2 planes intersect, then their intersection is exactly 1 Ly ne ?
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Paragraph Proof:
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Four Parts to a Good Proof:
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Notes Geometry 2/6
Algebraic Proof
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Review Properties from Algebra (a+b=a+2b+

1. Addition/Subtraction: T¢ o =b, then OrC = bt
Bl = Aal T¢ asb , Hen a-Ccz=b-&
Ax-6 te =Y+
2. Multiplication/Division.: T¢ asb, Hren a-c2b
Ak = UD
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Note: The Algebraic properties above only apply in EQUATIONS! (There must be
an equals sign (=) to use them!!!)

New Properties Algebra Example K &_Geometry Example
A= O ' '
5. Reflexive: ‘
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6. Symmetric: Th c.<Y S b=
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K= k] = MmiAL

7. Transitive: il 2= pml 3
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2-6 Skills Practice
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Algebraic Proof
State the property that justifies each statement.
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2. If RS = TU and TU = YP, then RS = YP. ¢ eipng! tVL
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4.IfVR + TY = EN + TY, then VR = EN. [\ Ad | o @?ogxu *«%

5.Ifms1=30and ms1=ms2,then mz2 = 30. Jron s AL

Complete the following proof.
6.Given: 8x — 5 =2x +1

Provey{x =

Proof:

Statements Reasons

a8x—5=2¢+1 a  (Hives\

b.8x — 5 — 2 =2 + 1 — 2« b. SLbtcackHen ?«—a(mr 3.%]/

c¢. bx-g =i c¢. Substitution Property

d. ('051 -5 ¢S5 ={t%H d. Addition Property

e.6x =6 e. SupstityHo N
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Write a two-column proof for the following.

7. 1fPQ = QS and @S = ST, then PQ = ST. PZ
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